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Question Id : 92090610331 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to the United Nations (UN) population estimates, this yvear, the population
of India surpassed or will surpass that of China. Since 1950, the vear the UN began
keeping track of population data, China has been the most populous country. In the
forthecoming decades, perhaps even centuries, this position will belong to India.

A key question that has resurfaced in this background 18 whether the large population
15 the bane of the Indian economy or boon for it.

Two relevant questions

In answering this question, the common practice is to compare India to China. But
this 13 wholly misleading since the policy histories of the two countries are vastly
different, China is a much richer country today than India. This means that even if it is
at a disadvantage purely in terms of the composition of its population — for example,
those 65 vears or older make 13% of its population against only 7% of India’s — it may be
better placed to take care of its elderly.

The right way to pose the question therefore is not a comparison with China but to
ask whether on a net basiz a vounger and larger population is more beneficial than an
older and smaller population for the country.

These are two distinet questions with the first relating to the composition and the
second to the size of the population. As such, they must be considered separately in
succession.

Young demography helps

It should be relatively uncontroversial that the advantages of a yvoung population far
outweigh its disadvantages. First, a vounger population translates in a proportionately
large workforce and therefore higher gross domestic product (GDP) given the technology
and volume of capital available.

Second, given that the voung save more than the old, a vounger population also
translates in higher saving and therefore higher investment. The higher investment
further adds to the GDP. Finally, a younger population brings greater energy and
vibrancy to a nation, leading to more innovation and its greater exploitation.

A concern commonly expressed about a younger population is that it leads to greater
unemployment, But the unemployment rate depends on policies, which surely do not
depend on the age composition of the population.

Underemployment challenge

Factually, the unemployment rate in India has been consistently low in the 3-5%
range. As I have argued in numerous writings, unemplovment 1s not India’s problem, it
18 underemployment. On this score, the output per worker has seen a clear rising trend
({meaning declining underemployment) alongside rising workforce in the post-reform era.
What is needed is acceleration in this trend. That in turn required further policy reform,
not the older population.

Turning to the size gquestion, I would argue that the benefits of a larger population
also far outweigh its costs. There are vast benefits arising from economies of seale in the
provigion of public goods. Takes, for example, India’s digital infrastructure. Onece this
infrastructure is ereated, ‘it 15 there for all to use.

Sub questions

Question Number : 1 Question Id : 92090610332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the passage there are references to two different questions. They are related to:

(4) Composition

(B)  Size of the population
(C)  Technology and volume
(D} Unemployment

Find the most approprite options :

(1) (A) and (C)

(2) (A) and (B)

(3) (A), (B), and (C)

(4) (A, (B), and ()
Options :
92090640801. 1
92090640802. 2
92090640803. 3
92090640804. 4

Question Number : 2 Question Id : 92090610333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the writer how China is better placed to take care of its elderly?

(1)  Its elderly population is older and richer than most indian population.
(2)  The older population requires less care and is self dependent.
(3)  Those 65 years or older make 13% of its population.

(4)  Only 7% of chinese population are 65 vears or older.

Options :

92090640805. 1
92090640806. 2
92090640807. 3
92090640808. 4

Question Number : 3 Question Id : 92090610334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Person not having sufficiently demanding paid work 1s:

(1) Semiemployved (2) Overemploved
(3) Underemploved (4) Less employed



Options :

92090640809. 1
92090640810. 2
92090640811. 3
92090640812. 4

Question Number : 4 Question Id : 92090610335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of ‘Bane' 1s:

(1) Boon () Gift
(3) Curse (4) Challenge

Options :

92090640813. 1
92090640814. 2
92090640815. 3
92090640816. 4

Question Number : 5 Question Id : 92090610336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word substitution for “ thing that is helpful or beneficial” or which is a

fovour 1s:-

(1)  Bane (2) Boon
(3)  Boondocks (4) Boong
Options :

92090640817. 1
92090640818. 2
92090640819. 3
92090640820. 4

Question Id : 92090610331 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



According to the United Nations (UN) population estimates, this yvear, the population
of India surpassed or will surpass that of China. Since 1950, the vear the UN began
keeping track of population data, China has been the most populous country. In the
forthcoming decades, perhaps even centuries, this position will belong to India.

A key question that has resurfaced in this background i1s whether the large population
is the bane of the Indian economy or boon for it.

Two relevant gquestions

In answering this question, the common practice is to compare India to China. But
this 13 wholly misleading since the policy histories of the two countries are vastly
different, China iz a much richer country today than India. This means that even if it is
at a disadvantage purely in terms of the composition of its population — for example,
those 65 vears or older make 13% of its population against only 7% of India’s — it may he
better placed to take care of its elderly.

The right way to pose the question therefore is not a comparison with China but to
ask whether on a net basis a younger and larger population is more beneficial than an
older and smaller population for the country.

These are two distinct questions with the first relating to the composition and the
second to the size of the population. As such, they must be considered separately in
succession.

Young demography helps

It should be relatively uncontroversial that the advantages of a yvoung population far
outweigh its disadvantages. First, a vounger population translates in a proportionately
large workforce and therefore higher gross domestic product (GDP) given the technology
and volume of capital available,

Second, given that the yvoung save more than the old, a vounger population also
translates in higher saving and therefore higher investment. The higher investment
further adds to the GDP. Finally, a younger population brings greater energy and
vibrancy to a nation, leading to more innovation and its greater exploitation.

A concern commonly expressed about a younger population is that it leads to greater
unemployment, But the unemployment rate depends on policies, which surely do not
depend on the age composition of the population.

Underemployment challenge

Factually, the unemployment rate in India has been consistently low in the 3-5%
range, As I have argued in numerous writings, unemplovment is not India’s problem, it
is underemployment. On this score, the output per worker has seen a clear rising trend
({meaning declining underemployment) alongside rising workforce in the post-reform era.
What is needed is acceleration in this trend. That in turn required further policy reform,
not the older population.

Turning to the size question, I would argue that the benefits of a larger population
also far outweigh its costs. There are vast benefits arising from economies of seale in the
provigion of public goods. Takes, for example, India’s digital infrastructure. Onece this
infrastructure iz created, ‘it 15 there for all to use.

Sub questions

Question Number : 1 Question Id : 92090610332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the passage there are references to two different questions. They are related to:

(4) Composition

(B) Size of the population
(C)  Technology and volume
(D) Unemployment

Find the most approprite options :

(1) (A) and (C)
(2) (A) and (B)
(3) iA), (B), and (C)
4) (A, (B), and (D)

Options :

92090640801. 1
92090640802. 2
92090640803. 3
92090640804. 4

Question Number : 2 Question Id : 92090610333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the writer how China is better placed to take care of its elderly?

(1) Its elderly population is older and richer than most indian population,
(2)  The older population requires less care and is self dependent.
(3)  Those 65 years or older make 13% of its population.

{(4)  Only 7% of chinese population are 65 years or older.

Options :

92090640805. 1
92090640806. 2
92090640807. 3
92090640808. 4

Question Number : 3 Question Id : 92090610334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Person not having sufficiently demanding paid work 1=

(1) Semiemploved (2) Overemployed
(3)  Underemploved {(4) Less employed
Options :

92090640809. 1



92090640810. 2
92090640811. 3
92090640812. 4

Question Number : 4 Question Id : 92090610335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of ‘Bane’ 1a:

(1) Boon () Gaft
(3) Curse (4) Challenge

Options :

92090640813. 1
92090640814. 2
92090640815. 3
92090640816. 4

Question Number : 5 Question Id : 92090610336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word substitution for * thing that 1s helpful or beneficial” or which 1s a
fovour 1s:-

(1)  Bane (2) Boon
(3)  Boondocks (4) Boong
Options :

92090640817. 1
92090640818. 2
92090640819. 3
92090640820. 4

Sub-Section Number : 2
Sub-Section Id : 920906339
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090610337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word ‘HOLISTIC is:

(1) Piecemeal (2) Fearless
(3) Deletion {4) Inadequate
Options :

92090640821. 1
92090640822. 2
92090640823. 3
92090640824. 4

Question Number : 6 Question Id : 92090610337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most suitable antonym of the given word ‘HOLISTIC is:

(1) Piecemeal (2) Fearless
(3) Deletion {4) Inadequate
Options :

92090640821. 1
92090640822. 2
92090640823. 3
92090640824. 4

Question Number : 7 Question Id : 92090610338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One who eats human flesh 1s:

(1) Canine (2} Cabal
(3) Cirrhosis (4) Cannibal
Options :

92090640825. 1
92090640826. 2
92090640827. 3
92090640828. 4

Question Number : 7 Question Id : 92090610338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One who eats human flesh 1s:

(1) Canine {2y Cabal
(3) Cirrhosis {4) Canmbal

Options :

92090640825. 1
92090640826. 2
92090640827. 3
92090640828. 4

Question Number : 8 Question Id : 92090610339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the given options:

In a bid to check urban apathy voters, the Election commission had
decided hold the poll the middle the week to prevent
people planning an outing by clubbing the poll day holiday with the weekend break.
(1) among, of, to, in (2) among, with, in, on

(3) among, to, in, of {4) among, on, of, in

Options :

92090640829. 1
92090640830. 2
92090640831. 3
92090640832. 4

Question Number : 8 Question Id : 92090610339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the given options:

In a lid to check urban apathy voters, the Election commission had
decided hold the poll the maddle the week to prevent
people planning an outing by clubbing the poll day holiday with the weekend break.
(1) among, of, to, in (2) among, with, in, on

(3) among, to, in, of {4) among, on, of, 1n

Options :

92090640829. 1
92090640830. 2
92090640831. 3
92090640832. 4



Question Number : 9 Question Id : 92090610340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following sentences into a meaningful paragraph:

(A) Research confirms that retaining mental sharpness requires certain life style
interventions, specifically, adjusting what and how you eat, how much you
exercise, how vou deal with life’s challenges and how vou interact with others.

(B) The good news is that declining brain health and cognitive loss are not in
evitable.

(C) If you trun these behaviours into habits that yvou can sustain over the long
term that will have drametic effects not only on yvour cognitive fitness, but also
on your overall health.

(D) Maintaining cognitive fitness reqiures far more than a simple “train your
brain” programme or diet as some quick fix online programmes suggest:

Choose the correct answer from the options given below :

(1) (B, (D), (A), (O)
(2) (B (A).(C), (D)
(3) (&), (C), (B), (D)
(4)  (A), (D), (B), (C)

Options :

92090640833. 1
92090640834. 2
92090640835. 3
92090640836. 4

Question Number : 9 Question Id : 92090610340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences into a meaningful paragraph:

(A)  Research confirms that retaining mental sharpness requires certain life style
interventions, specifically, adjusting what and how you eat, how much you
exercise, how vou deal with life’s challenges and how vou interact with others.

(B) The good news is that declining hrain health and cognitive loss are not in
evitable.

(C) If you trun these behaviours into habits that vou can sustain over the long
term that will have drametic effects not only on vour cognitive fitness, but also
on your overall health.

(D) Maintaining cognitive fitness reqgiures far more than a simple “train your
brain” programme or diet as some guick fix online programmes suggest:

Choose the correct answer from the options given below :

(1)  (B). (D), (A), (C)
(2)  (B), (A), (O), (D)
(3) (A (C), (B), (D)
(4)  (A), (D), (B), (C)

Options :

92090640833. 1
92090640834. 2
92090640835. 3
92090640836. 4

Question Number : 10 Question Id : 92090610341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks in List I with correct group of prepositions given in hst 11 :

Last I List 11

{A) Mrs, Kapoor, the (I) onbehalf, next to, in
neighbour, who lived place of in front of,
her mansion moved inplace of
Manah the cold.

(B the PTA, MsVerma (II) according to, priarto,
stood the podium with in, because of

the crowd the

President and presented him
with a plaque.

() a report published the (III) because of, ontop of,
cost of living to COVID along with, inspite of
19 was the reach of the
common, but high

inflation rate past COVID 19
cost of iving has esculated.

({0)] the rain, my neighbour (IV) according to, because,
put a blue tarp his roof, next to, away from,
a fibre glass sheet but because

all measures, water did

seda pin.

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(I1T), (D)-(II)
(2)  (AIV), (B)-(I), (C)-(I), (D)-(I1I)
(3)  (A(ID), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A(ID, (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090640837. 1
92090640838. 2
92090640839. 3
92090640840. 4

Question Number : 10 Question Id : 92090610341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks in List I with correct group of prepositions given in hst 11 :

Last I List 11

{A) Mrs, Kapoor, the (I) onbehalf, next to, in
neighbour, who lived place of in front of,
her mansion moved inplace of
Manah the cold.

(B the PTA, MsVerma (II) according to, priarto,
stood the podium with in, because of

the crowd the

President and presented him
with a plaque.

() a report published the (III) because of, ontop of,
cost of living to COVID along with, inspite of
19 was the reach of the
common, but high

inflation rate past COVID 19
cost of iving has esculated.

({0)] the rain, my neighbour (IV) according to, because,
put a blue tarp his roof, next to, away from,
a fibre glass sheet but because

all measures, water did

seda pin.

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(I1T), (D)-(II)
(2)  (AIV), (B)-(I), (C)-(I), (D)-(I1I)
(3)  (A(ID), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A(ID, (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090640837. 1
92090640838. 2
92090640839. 3
92090640840. 4

Question Number : 11 Question Id : 92090610342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a sum of ¥ 5,000 is deposited on compound interest at 10% per annum, then the
amount received after 2 years 1s:

(1) < 6,000 (2) 6,050
(3) % 7,200 (4) ¥ 8,000

Options :
92090640841. 1



92090640842. 2
92090640843. 3
92090640844. 4

Question Number : 11 Question Id : 92090610342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a sum of ¥ 5,000 is deposited on compound interest at 10% per annum, then the
amount received after 2 years 1s:

(1) % 6,000 (2) 6,050
(3) 7,200 (4) T B.000
Options :

92090640841. 1
92090640842. 2
92090640843. 3
92090640844. 4

Question Number : 12 Question Id : 92090610343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot 20° tan (90° — A ) =1, than value of A 1s:

(1) 500 (2) 45°
Options :

92090640845. 1
92090640846. 2
92090640847. 3
92090640848. 4

Question Number : 12 Question Id : 92090610343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot 20° tan ( 90° — A ) =1, than value of A 15

(1) 500 (2) 45°
(3) T0° (4) 60e°

Options :



92090640845. 1
92090640846. 2
92090640847. 3
92090640848. 4

Question Number : 13 Question Id : 92090610344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a% of a+b % of b= 2% of ab, then what percent of a 15 b?

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090640849. 1
92090640850. 2
92090640851. 3
92090640852. 4

Question Number : 13 Question Id : 92090610344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a % of a+b % of b= 2% of ab, then what percent of a is b?

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090640849. 1
92090640850. 2
92090640851. 3
92090640852. 4

Question Number : 14 Question Id : 92090610345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The volume of eylinder 15 1408 em® and its height 15 7 cm. Find the total surface area
of the eylinder (correct to 2 decimal places).

22
Use 7 =—
(Use = -;}

(1) 352.55 em? (2) B4B.75cem?
(3) 754.29 em* (4) 458.39 cm*
Options :

92090640853. 1
92090640854. 2
92090640855. 3
92090640856. 4

Question Number : 14 Question Id : 92090610345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of eylinder 15 1408 em® and its height 15 7 cm. Find the total surface area
of the eylinder (correct to 2 decimal places).

22
Use 7 =—
(Use = -;}

(1) 352.55 em? (2) B4B.75cem?
(3) 754.29 em* (4) 458.39 cm*
Options :

92090640853. 1
92090640854. 2
92090640855. 3
92090640856. 4

Question Number : 15 Question Id : 92090610346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram has a sum of money, which is sufficient to pay either Usha’s wages for 30 days or
Manika's wages for 60 days. If he employes them together, the money is sufficient to
pay their wages for how many days?

(1) 30 (2) 20
3 12 (4) 10
Options :

92090640857 1



92090640858. 2
92090640859. 3
92090640860. 4

Question Number : 15 Question Id : 92090610346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram has a sum of money, which is sufficient to pay either Usha’s wages for 30 days or
Manika's wages for 60 days. If he employes them together, the money is sufficient to
pay their wages for how many days?

(1) 30 (2) 20
(3) 12 (4) 10
Options :

92090640857. 1
92090640858. 2
92090640859. 3
92090640860. 4

Question Number : 16 Question Id : 92090610347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has two statements and three conclusions. Check the
conclusion on the basic of the statement and choose the correct option from the
following:

Statements : (A) All Dogs are animals

(B) All animals are mammals

Conclusions : 1. Some Dogs are animals
2.  Some mammals are animals

All dogs are mammals

In the light of the above statements, choose the correct answer from the options given
below :

(1) Only 1 follows
(2) Only 1 and 2 follows
(3) Only 2 and 3 follows

(4) All three follows
Options :
92090640861. 1
92090640862. 2
92090640863. 3
92090640864. 4

Question Number : 16 Question Id : 92090610347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has two statements and three conclusions. Check the
conclusion on the basic of the statement and choose the correct option from the
following:

Statements : (A) All Dogs are animals

(B) All animals are mammals

Conclusions : 1. Some Dogs are animals
2.  Some mammals are animals

All dogs are mammals

In the light of the above statements, choose the correct answer from the options given
below :

(1) Only 1 follows
(2) Only 1 and 2 follows
(3) Only 2 and 3 follows

(4) All three follows
Options :
92090640861. 1
92090640862. 2
92090640863. 3
92090640864. 4

Question Number : 17 Question Id : 92090610348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the answer figure which completes the figure matrix?

Problem figure

Answer figures

[
M) ‘ ‘ @ ||
|

Options :

92090640865. 1
92090640866. 2
92090640867. 3
92090640868. 4

Question Number : 17 Question Id : 92090610348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the answer figure which completes the figure matrix?

Problem figure

Answer figures

1) ‘ ‘ @)

|
(3) (4) .// ,-'I
Options :

92090640865. 1
92090640866. 2
92090640867. 3
92090640868. 4

Question Number : 18 Question Id : 92090610349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given information carefully to answer the question:

A family consists of six members P, Q, R, S, T, and Z. Q 1s the son of R but R 15 not
mother of Q. P and R are married couple. T is the brother of R. S is the daughter of
P and Z is the brother of P.

How many male members are there in the famly?

(1) One (2) Two
(3) Three (4) Four
Options :

92090640869. 1
92090640870. 2
92090640871. 3
92090640872. 4



Question Number : 18 Question Id : 92090610349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given information carefully to answer the question:

A family consists of six members P, Q, R, S, T. and Z. Q is the son of R but R is not
mother of Q. P and R are married couple. T is the brother of R. S is the daughter of
P and Z is the brother of P.

How many male members are there in the family?

(1) One (2) Two
(3) Three (4) Four
Options :

92090640869. 1
92090640870. 2
92090640871. 3
92090640872. 4

Question Number : 19 Question Id : 92090610350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If South — West becomes West, North — West becomes North and so on. What will
become East?

(1) South - East (2) North — East
(3) North (4) South
Options :

92090640873. 1
92090640874. 2
92090640875. 3
92090640876. 4

Question Number : 19 Question Id : 92090610350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If South — West becomes West, North — West becomes North and so on. What will
become East?

(1) South - East (2) North — East
(3) North (4) South
Options :

92090640873. 1
92090640874. 2
92090640875. 3
92090640876. 4

Question Number : 20 Question Id : 92090610351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are three conclusions are taken for the given statement:

Statement :  All the students of this class are average in studies. Savita is a
brilliant student.

Conclusions: [. Some students are bright in studies.
II. Savita must be working hard.

ITI. Savita is not the student of this class.

In the light of the above statement, choose the correct answer from the options given
below :

(1) Only conclusion I follows.
(2) Only conclusion 111 follows.
(3) Either I1 or III follows.

(4) Neither I nor 11 follows.

Options :

92090640877. 1
92090640878. 2
92090640879. 3
92090640880. 4

Question Number : 20 Question Id : 92090610351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are three conclusions are taken for the given statement:

Statement :  All the students of this class are average in studies. Savita is a
brilliant student.

Conclusions: [. Some students are bright in studies.
II. Savita must be working hard.

III. Savita is not the student of this class.

In the light of the above statement, choose the correct answer from the options given
below :

(1) Only conclusion I follows.
(2) Only conclusion 111 follows.
(3) Either 11 or IIT follows.

(4) Neither I nor 11 follows.

Options :

92090640877. 1
92090640878. 2
92090640879. 3
92090640880. 4

Question Number : 21 Question Id : 92090610352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Photo cell converts light energy into:

(1) Heat Energy (2) Electrical energy
(3) Chemical Energy (4) Mechanical energy
Options :

92090640881. 1
92090640882. 2
92090640883. 3
92090640884. 4

Question Number : 21 Question Id : 92090610352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Photo cell converts light energy into:

(1) Heat Energy (2) Electrical energy
(3) Chemical Energy (4) Mechanical energy
Options :

92090640881. 1
92090640882. 2
92090640883. 3
92090640884. 4

Question Number : 22 Question Id : 92090610353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the first month of the Saka calendar (National Calender System):

(1) Vaishakh (2) Magha
(3) Kartik {(4) Chitra
Options :

92090640885. 1
92090640886. 2
92090640887. 3
92090640888. 4

Question Number : 22 Question Id : 92090610353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the first month of the Saka calendar (National Calender System):

(1) Vaishakh (2) Magha
(3) Kartik {(4) Chitra
Options :

92090640885. 1
92090640886. 2
92090640887. 3
92090640888. 4

Question Number : 23 Question Id : 92090610354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Indian states touch the border of China?

(A) West Bengal

(B) Himachal Pradesh
(C)  Punjab

(Dy Uttarakhand

Choose the correct answer from the options given below :

(1) (A)and (D) only.
(2) (B) and (D) only.
(3) (A (C) and (D).
(4)  (C) and (D) only.
Options :
92090640889. 1
92090640890. 2

92090640891. 3
92090640892. 4

Question Number : 23 Question Id : 92090610354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Indian states touch the border of China?

(A) West Bengal

(By Himachal Pradesh
(C) Punjab

(D) Uttarakhand

Choose the correct answer from the options given below :

(1) (A)and (D) only.
(2) (B) and (D) only.
(3)  (A), (C) and (D).
(4)  (C) and (D) only.
Options :
92090640889. 1

92090640890. 2
92090640891. 3



92090640892. 4

Question Number : 24 Question Id : 92090610355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statementl : Gaganyaan is the maiden human space flight project of India for
carrying Indian astronauts to Space. “Vyomamitra” accompanies
Indian Austronauts in Space missions.

Statement II : “Vyomamitra” 1s a famous lady astronant who accompanies the
(raganyaan space craft.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement II 15 correct

Options :

92090640893. 1
92090640894. 2
92090640895. 3
92090640896. 4

Question Number : 24 Question Id : 92090610355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statementl : Gaganyaan is the maiden human space flight project of India for
carrying Indian astronauts to Space. “Vyomamitra” accompanies
Indian Austronauts in Space missions.

Statement II : “Vyomamitra” is a famous lady astronant who accompanies the
(Gaganyaan space craft.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement [ and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090640893. 1
92090640894. 2
92090640895. 3
92090640896. 4

Question Number : 25 Question Id : 92090610356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To whom does the speaker gives his resignation?

(1) Deputy speaker (2) Prime minister
(3) President (4) Governor
Options :

92090640897. 1
92090640898. 2
92090640899. 3
92090640900. 4

Question Number : 25 Question Id : 92090610356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To whom does the speaker gives his resignation?

(1) Deputy speaker (2) Prime minister
(3 President (4) Governor
Options :

92090640897. 1
92090640898. 2
92090640899. 3
92090640900. 4

Part B: Atmospheric Science

Section Id : 920906206
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906340
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090610357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-ll :

List—I ListII
(Material) (Property)
(A) Copper (I) Antiferromagnet
(B) BaTiO5 (Il) Ferroelectric
(C) CoO (II1) Semiconductor
(D) Germanium (IV) Metal

Choose the correct answer from the options given below :
1. (A1) (B)(II); (CH-(IV); (D)-(1Il)
2. (A(IV); B)-(lI): (C)=(1): (D))
3. (Al (BY(H); (CHIV): (D)(1)

4. (A=(Iy; (B)(IV); (C)=(1): (D))
Options :

92090640901. 1

92090640902. 2

92090640903. 3

92090640904. 4

Question Number : 26 Question Id : 92090610357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & Y Y= 11 T HaE $ifee

gl Tt i
(A) PR () O BAEERS
(8) BaTiO3 () gD
(€) CoO (L EIED
(D) SHHFTH (V) o1g

< feu Tt fasedi A | ¥dl IR &1 994 DIl

(1) A-l, B-ll, C-IV, D-1lI
(2) A-1V, B-II, C-1, D-1lI
(3) A-ll, B-1lI, C-1V, D-I
(4) A-Ill, B-1v, C-1I, D-I

Options :

92090640901. 1
92090640902. 2
92090640903. 3
92090640904. 4

Question Number : 27 Question Id : 92090610358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List-I| :

List—I List—II
(A) Diffraction (I) Dispersion
(B) Compton scattering () Wave nature of light
(C) Wavelength dependence (lIf) Polaroid sunglasses

of refractive index

(D) Brewster's angle (IV) Particle nature of light

Choose the correct answer from the options given below :

1. (A)(I); B-(IV); (C){1); (D)=(1h)

2. (A-(); (B)~(1); (C)-(I): (D)~(IV)

3. (A1) (B)(I); (C)-(I); (D)~IV)

4. (A-(I); (B): (CHIV); (D)-()
Options :

92090640905. 1
92090640906. 2
92090640907. 3
92090640908. 4

Question Number : 27 Question Id : 92090610358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & Ty g 11 B e S

gt gt -
@A) fada (1) ufRemo
(B) T YHIuA () T & T WEY
(C) SUTdI® & aUTGE] W SIUR  (Ill) UeRIgS §U &I IH
(D) ¥R Pl (IV) WD & HU Ty

4 fau e fasedi # | ¥l IR &1 994 DI

(1) A-ll, B-1V, C-I, D-llI
(2) A-lll, B-I, C-lI, D-IV
(3) A-l, B-ll, C-lll, D-IV
(4) A-lll, B-I, C-IV, D-II
Options :
92090640905. 1
92090640906. 2

92090640907. 3
92090640908. 4

Question Number : 28 Question Id : 92090610359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following elements in terms of their electrical resistivity in increasing
order (at room temperature) :

A. Copper

B. p-type silicon
C. metallic sodium
D. diamond

Choose the correct answer from the options given below.

1. AB,D,C
2. ACBD
3. B,DCA
4 C,ADB



Options :

92090640909. 1
92090640910. 2
92090640911. 3
92090640912. 4

Question Number : 28 Question Id : 92090610359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i AT 71U 9 @1 39! faegd nfeRiusddl & dgd gUHH (@M dM W) § afyd $Hiferg

(1) HR (2) p- sy e
3)  ufces @fsan @) SHHS

e feu e fasedi O O 9El IR &1 99 Sifo:

(1) AB,D,C

(2) ACBD

(3) BDCA

(4) CADB

Options :

92090640909. 1
92090640910. 2
92090640911. 3
92090640912. 4

Question Number : 29 Question Id : 92090610360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Ina photoelectric effect experiment, the intensity of light beam
does not change the maximum energy of an ejected
photoelectron.

Reason (R) : Intensity of light does not relate to energy carried by
electromagnetic waves.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090640913. 1
92090640914. 2
92090640915. 3
92090640916. 4

Question Number : 29 Question Id : 92090610360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

413 3 $Y QU U §: U SMUBYA (Assertion A) F ¥ ¥ fif@d & O g1 IUF SR
(Reason R) F¥Y T

HYDYTA : TP USW - faegd guE Waw # ya oy of didd, Feeifia sidh
SoaeH B Siftidan 3o &1 uRafdd A1 dedl |

PRUR : U1 & i, faegd Tras aiv i Sell 3 H&fid 981 8 |
IR HYH & 3Teiie #, 41 fGu 7 fadwedl § 9 Ja¥ Iugdd IR &1 90 DI

(1) ASRRIHITE g ARR, A DI IS ST &

) ASRREHITEl € AP R A DI Hel AR el &
(3) ATEE APTRUL TE®

@) AU E, BT REE B

Options :




92090640913. 1
92090640914. 2
92090640915. 3
92090640916. 4

Question Number : 30 Question Id : 92090610361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wein's displacement law (A5, T =2.89x1073 m-K) is useful in determining

1. velocity of light
2. displacement current of dielectrics
3. density of liquids

4.  surface temperature of stars

Options :

92090640917. 1
92090640918. 2
92090640919. 3
92090640920. 4

Question Number : 30 Question Id : 92090610361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dF (Wein's) TR a0 (2,07 =2.89x103m - k), Ppfefa 7 d a4 Puffa &3 o
UGS BIdI§ ?

(1) U &1 AT

() WRIdegd &l faRimaH 4RI
() wAHUId

(4) ORI gPY diaAHE

Options :

92090640917. 1
92090640918. 2
92090640919. 3
92090640920. 4

Question Number : 31 Question Id : 92090610362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A sample of m kg of water in slowly heated from T; Kto T, K. The specific heat

capacity of water is C=4200 J kg‘1 K~'. The total change in entropy of water
is given by

1. mcinl2
T1

2 CTE T‘I
T

4. mc[ﬁ}
T

Options :

92090640921. 1
92090640922. 2
92090640923. 3
92090640924. 4

Question Number : 31 Question Id : 92090610362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U m 600 U & TR P IR - R 7, KA 7, K AUHH & T faan S g | o St i

AT Il C=4200Jkg 'K Bl U @1 sl ¥ @ uRadd fFEe g gar o
Hahdl 87

1. mCin T—E
T

T -Ty
1

o

mCln ——

3. mEIn{Tg — T-1 }

4. mC Ty
Ty
Options :
92090640921. 1
92090640922. 2

92090640923. 3



92090640924. 4

Question Number : 32 Question Id : 92090610363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two cars of unequal masses use similar tyres. If they are moving at the same
initial speed, the minimum stopping distance

1. is smaller for the heavier car

2. is smaller for the lighter car

3. is same for both the cars

4. depends in the volume of the car
Options :

92090640925. 1
92090640926. 2
92090640927. 3
92090640928. 4

Question Number : 32 Question Id : 92090610363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faf¥ soaHM &1 8 HR U GHH R YR Sl ¢ | afe 9@ IR ared 96 & ol gAdH
fama ¢t

1) MYl R & foe &1 g1t |

2) geb] dR & forg &H gt |

3) T BRI & forg wwm gnft |

4) PR & AATA R R BT B |

Options :

92090640925. 1
92090640926. 2
92090640927. 3
92090640928. 4

Question Number : 33 Question Id : 92090610364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Figure shows the elliptical path of a planet around the sun. The two shaded parts
have equal area. If ty and t, be the time taken by the planet to go from ato b

and c to d respectively, then

¢ b
d a
1 ty<ty
2. N>t
3 ti=1t>
4. 2=t
Options :

92090640929. 1
92090640930. 2
92090640931. 3
92090640932. 4

Question Number : 33 Question Id : 92090610364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&ar a1 o i & ARI iR U U &1 &1 $ad gy 3@ € | S S’y HRT &1 Sigad
AR A ¢, iR t, P UEERIfAGadb 3N A d T H THY TUA B ol -

b
d d

1 ty <ty

% bt

3. t=t,

2=t

Options :
92090640929. 1
92090640930. 2



92090640931. 3
92090640932. 4

Question Number : 34 Question Id : 92090610365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two objects A and B are thrown upward simultaneously with the same speed.
Mass of A is greater than mass of B. Neglect the air resistance. Which of the
following statement is true?

1.  The two bodies will reach the same height
2. A will go higher than B
3. Bwill go higher than A

4. Depends on the speed with which the objects are thrown

Options :

92090640933. 1
92090640934. 2
92090640935. 3
92090640936. 4

Question Number : 34 Question Id : 92090610365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 fig A 3R B, U& & ¥ R §UE 91 4 SR b ofld &1 A P G390 B & 00
e & (arg ufeiy &1 Iuan &) dl -

1) SFT fifs SRR Fars ac S |

2) A, B Y 3 JdTs ddb ST |

3) B,A ¥ 31 TS d Sna|

4) 39 91 W AR Fvar & o g el & Sur e 1 8
Options :
92090640933 1
92090640934. 2

92090640935. 3
92090640936. 4

Question Number : 35 Question Id : 92090610366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct regarding photoelectric effect
experiment?

1. At fixed intensity, stopping potential varies with frequency of incident
light.

2. Higher intensity implies higher saturation current.

3. There is a time lag of approximately 1 second between ejection of
photoelectron and light incidence.

4. Below ‘threshold’ frequency no photo electron is ejected.

Options :

92090640937. 1
92090640938. 2
92090640939. 3
92090640940. 4

Question Number : 35 Question Id : 92090610366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad & 4 $19 91 Y UH- [asgd wHIed uh & Jay 7 981 81 82
1) FAigd ciaar oz, MR fava, smafd uera &Y engfd & SR deadi g |

2) T 9fa, I G uRT 1 3 FRal B
3)  3gfad U SR FshIR Wiel SadeH & dtd § YT U Adb-g &1 SfcaRid gidl & |
4) 3gdl 3gfd & A @13 wiel sade fHss1iid gl gidl

Options :

92090640937. 1
92090640938. 2
92090640939. 3
92090640940. 4

Question Number : 36 Question Id : 92090610367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If you place a metal ring on top of a solenoid and then switch on the solenoid,
the ring will

— Ring

Plug  Solenoid
1.  continue to stay over the solenoid
2. move horizontally
3.  move vertically upward

4. be sucked into the solenoid

Options :

92090640941. 1
92090640942. 2
92090640943. 3
92090640944. 4

Question Number : 36 Question Id : 92090610367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe 319 U o1d & dad (Hed ) &I Uh IRATIST & FHW @ 3R ARSI URT e HR
ddlaay

— Ring gy

Plug Solenoid gfrferst
g

1) ufeferesT & U & TR

2) &ifes 7ifg |

3) JETER FHWR 71fd S|

4) ORATfeIdT & Hiar 9f¥d g1 S|
Options :
92090640941. 1
92090640942, 2

92090640943. 3
92090640944. 4



Question Number : 37 Question Id : 92090610368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Young's modulus is defined as

1.  the ratio of tensile stress over tensile strain

2.  the ratio of volume stress over volume strain
3.  the ratio of shear stress over shearing strain
4.  the ratio of fractional change in the transverse length to the fractional
change in the longitudinal length.
Options :

92090640945. 1
92090640946. 2
92090640947. 3
92090640948. 4

Question Number : 37 Question Id : 92090610368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfefaa # @ & a1 & 1uie &1 uRuIitd S 82

1) @4 Ufded &1 944 fd$id &1 3urd

2) H1acH Ufded &1 3mad- fdpfd &1 s

3) U= Ufdee &1 3g=un fddfd &1 erurd

4) TR SIS W YA uRade SR seud wars # yHrel gRad &1

Options :

92090640945. 1
92090640946. 2
92090640947. 3
92090640948. 4

Question Number : 38 Question Id : 92090610369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-| : Electrical resistivity of semiconductors exponentially increase
with increasing temperature.

Statement-Il : In metals, both electrical conductivity and thermal conductivity
decrease with increasing temperature.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2. Both Statement-l| and Statement-I| are false

3. Statement-I| is true but Statement-ll is false

4.  Statement-l is false but Statement-Il is true
Options :

92090640949. 1
92090640950. 2
92090640951. 3
92090640952. 4

Question Number : 38 Question Id : 92090610369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R AFy RS

DU | TS St 3 faggd ufcRiudd], duaH & e W, TRuidied ddid J gl g
YA | ; urgsH H 1, [dggd arcedr SR ardid Areiddl dT9H & de- & A1y Uedl ¢ |
QIR HYH & 3ATciiep A, T U MU fahedl 7 I Ya el IR b1 99 HIfY

1. PUYTIRNESAI 9T 8
()  HYFI SR IEHT 3HT B
(3) HY I TG g, AfFT Y1 AT &
@) HYFI A E, AT FUT I T ©
Options :
92090640949. 1
92090640950, 2

92090640951. 3
92090640952. 4




Question Number : 39 Question Id : 92090610370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement-1 : If Ax is the uncertainty in the measurement of the x
component of its position and Ap, is the uncertainty in the

simultaneous measurement of the x component of its

momentum, then Mﬂpxz';" where h is the Planck's
T

constant.

Statement-ll : In quantum mechanics, the lowest energy of a particle
confined to a box can be zero.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct
2 Both Statement-| and Statement-Il are incorrect
3. Statement-| is correct but Statement-l| is incorrect

4. Statement-| is incorrect but Statement=l| is correct

Options :

92090640953. 1
92090640954. 2
92090640955. 3
92090640956. 4

Question Number : 39 Question Id : 92090610370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 g1 Hy= e U &
FYT| : Tel Ax, x 9o @1 [RUfT 7199 ot iFiaar gidl § 3R « 9% & GHSIdS SaT

& I Apx M.ﬂpxg;@mau (h i BT RRTS)

YA || : Faied gide! ¥, fawlt a1 1 ufeqy fbdt 01 & Ay Sl Y 8 a8 |
QU HYF & 3fciler H, i fU 1 fadedi # 9 Ha8 Iugdd IR &1 94 DI

1. FY I ARNSH e §

(2) HYF AR ESH TAd §

(3) YA I HEl 8, Al HYA 1l TTed §

(4) YT | TTed 8, Afb HY 11 Bl 8
Options :

92090640953. 1
92090640954. 2
92090640955. 3
92090640956. 4

Question Number : 40 Question Id : 92090610371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement(s) :

A.
B.
C.

D.

Frictional force is an electromagnetic force
Protons and Neutrons inside nucleus are held together by a ‘weak’ force

For the same mass, charge and distance, gravitational force is stronger
than the electromagnetic force

B -decay in radioactivity is related to strong force

Choose the most appropriate answer from the options given below.

1. Aonly

2.  AandB only

3. A BandConly

4. A, B,CandD only

Options :
92090640957. 1
92090640958. 2



92090640959. 3
92090640960. 4

Question Number : 40 Question Id : 92090610371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HYF T

A.  IYU 0 U [dggd a9 9d &

B. I & HIeR, W1 3R M, U g ¥ ol 90 A s §1d €1

C. U UM GoHM, 319 3R gl & oY, REarsyvl g4, fagyd Ta@ ™ ad 8 Uead gidl &
D. MU Efbadi# p-&, ad g0 I Hafid B

1< fg T faeul # @ el IR BT 999 DI ;

1)  &dd A,
2) $dd A3INB
3) &dd ABSIRC

4)  ABC 3RD

Options :

92090640957. 1
92090640958. 2
92090640959. 3
92090640960. 4

Question Number : 41 Question Id : 92090610372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is the general solution to the ODE y' +tan (x)y = sin (2x)?

1. y{x}:ccﬂs{x}—?_cnsz[x}
2. ¥y(x)=csin {x}—zsinz{x)
3 y{x]:ccus{cx}—?cosz[cx}

4. y(x)=csin(cx)- zsinz{x}

Options :



92090640961. 1
92090640962. 2
92090640963. 3
92090640964. 4

Question Number : 41 Question Id : 92090610372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fufefad & T S I ODE y' +tan (x)y =sin (2x) FTYH EA & ?

1. y{x}:cccs{x}—zccsz{x)
2. y(x)=csin (x)-2sin?(x)
3. y(x)=ccos(cx)- 2(:{:-52{(::(}

4. y(x)=csin{cx)- 25in2{x}

Options :

92090640961. 1
92090640962. 2
92090640963. 3
92090640964. 4

Question Number : 42 Question Id : 92090610373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ordinary differential equation involves
1. only one independent variable
2. only two independent variables
3. infinite independent variable

4. no dependent variable

Options :

92090640965. 1
92090640966. 2
92090640967. 3
92090640968. 4



Question Number : 42 Question Id : 92090610373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fdhd GHIH0 H il g —

1) ®dd U W =W

2) &ad &l Wdd R

3) ifAd Wad =R

4) P13 N R WT R AE

Options :

92090640965. 1
92090640966. 2
92090640967. 3
92090640968. 4

Question Number : 43 Question Id : 92090610374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-Il with List-Il :

List—I List=II
(A) Singular matrix (I) Determinant is not zero
(B) Non-singular matrix (ll) Determinant is always one
(C) Real symmetric (I11) Determinant is zero
(D) Orthogonal matrix (IV) Eigen values are always real

Choose the correct answer from the options given below :

1. (A(lI); B)(1); (CH-(IV); (D)1l

2. (A(IIl); B)-(II); (C)~(1); D)~V
3. (Al (B)-(IV); (C)-(I1); (D)
4. (A(II); (B)=(III); (CH-(IVY; (D)
Options :

92090640969. 1
92090640970. 2
92090640971. 3



92090640972. 4

Question Number : 43 Question Id : 92090610374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & 9y g 11 B e S

1| gt -
(A) SIS ST () RO T e g
(8) SgSHHUIT MY () ERMMS A 1 8118
(C) drdfde gafd () IR Y gl g
(D) THEHIUN THE (IV) gg&rﬁﬁ? U drdld®

2 fau T faedl | | W81 IR &1 994 DI

(1) A-lll, B-, C-IV, D-lI
(2) A-lll, B-Il, C-I, D-IV
(3) A-lll, B-Iv, C-lI, D-I
(4) A-ll, B-1ll, C-1V, D-I

Options :

92090640969. 1
92090640970. 2
92090640971. 3
92090640972. 4

Question Number : 44 Question Id : 92090610375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 : {h
Which one of the following is the product of the matrices [L‘J 1] and [1 l]] given

by matrix multiplication?

1 20 1Y
) 10
2 2
2.
10
\
3 2 1
2 0
\
4. % &
0 1
Options :

92090640973. 1
92090640974. 2
92090640975. 3
92090640976. 4

Question Number : 44 Question Id : 92090610375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁuﬁrﬁﬂﬁ@faﬁ:{m&m[; :]eﬁ?

U ;Jﬁlwﬂﬂmmﬁmw

TUHEET &

M2

-
P  —
=% M)

—

F . L
] [ I % ]

o

Options :

[ Y

- —y

(4%

o M

ezl



92090640973. 1
92090640974. 2
92090640975. 3
92090640976. 4

Question Number : 45 Question Id : 92090610376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1 a a3
The determinant of the matrix |0 -a 0lis
\1 0 -a
1. 1
2. &
3 a2
4. 232
Options :

92090640977. 1
92090640978. 2
92090640979. 3
92090640980. 4

Question Number : 45 Question Id : 92090610376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(4 & @

I |0 -a O
\1 0 -a

®1 GRS Farse

b
=



Options :

92090640977. 1
92090640978. 2
92090640979. 3
92090640980. 4

Question Number : 46 Question Id : 92090610377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

T
Assertion (A) : The determinant of the matrix f 9 2] is 0.
i

1 1 1
Reason (R) : There are no solutions to the equation [E ij = fDJ
L%

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is not false
4. (A)is false but (R) is true

Options :

92090640981. 1
92090640982. 2
92090640983. 3
92090640984. 4

Question Number : 46 Question Id : 92090610377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 &1 Fy= AU U §: U AfUFHU (Assertion A) § FY T foif@d g O TH IUS BRI (Reason R) &
¥q 0

3ffirpYA A &rm;g[; ;Jﬂmﬁwqm%

. (1 o) whwormarert

IR HYA & et F, 12 QU 7 fasedl § 9 998 Iugad I’ &1 999 Diferg

(1) AARRIF G € 3R A B T 18T 8

2) A3 RIFE Gl & afr R, A B Ug e el @
(

(

e

3) AHE AfFTREEITRIR
4  AHITEE AfFTREE R
Options :

92090640981. 1
92090640982. 2
92090640983. 3
92090640984. 4

Question Number : 47 Question Id : 92090610378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f(x) is an odd function and its Fourier series is f(x)= an sinnTﬂx then b,
n=1
is equal to

1. —j'n f(x}sm%dx

1 oo . X
2. Ej-ﬂ f(x}sdex

2 nmx
3. EIG f{x}sm —dx

4. j' f{x}sm—dx

Options :

92090640985. 1
92090640986. 2
92090640987. 3



92090640988. 4

Question Number : 47 Question Id : 92090610378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e f(x) U fauH e g 3R 39D HRER A0 £(x) = ibnsinﬂf‘-x%ﬁ b, fad TR &2
n=1

¥; _[ f(x )sm—dx

b

1 = . nmX
E-[D f{x}sdex
3. —j fx )sm—dx

2l . AT
4, EI_Lf{x}slnTﬂx

Options :

92090640985. 1
92090640986. 2
92090640987. 3
92090640988. 4

Question Number : 48 Question Id : 92090610379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

The Laplace transform of kil is equal to

1. log(s?+4)

(2
2. 2log s°+4
s )

2
3. 4log|S ;4
v 8§ 4

2
4 —Ir:n;.][S ;“ﬂ



Options :

92090640989. 1
92090640990. 2
92090640991. 3
92090640992. 4

Question Number : 48 Question Id : 92090610379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B .
%’ﬁmmmwm?

,_.
o
(=]
T
ha
i
N
-

]
~
&

s J
1 s?+4
Liog

Options :

92090640989. 1
92090640990. 2
92090640991. 3
92090640992. 4

Question Number : 49 Question Id : 92090610380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If z=e'?, then | e | is equal to

1 E—rmsﬂ
2 e—rsin 3]
3 re—r sin &

4 re—rcns i ]



Options :

92090640993. 1
92090640994. 2
92090640995. 3
92090640996. 4

Question Number : 49 Question Id : 92090610380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g z=e" 1| | PP RRE

1 E—rcnsﬂ
2 e—rmnﬁ
3 rE—rmnﬂ
4. re—rcost

Options :

92090640993. 1
92090640994. 2
92090640995. 3
92090640996. 4

Question Number : 50 Question Id : 92090610381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given complex number zy=1+2i and z, =2+/, what is the complex number

A5
Z2
4 3.
1. =—=i
o O
4 %+g!
3. 4-3i
4, 4+3i
Options :

92090640997. 1



92090640998. 2
92090640999. 3
92090641000. 4

Question Number : 50 Question Id : 92090610381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 1S TR FSMT 2, =1+ 2i and 2, =2+ , A TRy w2 fad suaw avft 2

2
i Bl
5 5
4 3.
2 —+=i
5 5
3 4 -3
4. 4+3i
Options :
92090640997. 1
92090640998. 2
92090640999. 3
92090641000. 4

Question Number : 51 Question Id : 92090610382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many normals can be drawn from any point to a given parabola?

1. Two

2. Three

3. Four

4. Six
Options :

92090641001. 1
92090641002. 2
92090641003. 3
92090641004. 4



Question Number : 51 Question Id : 92090610382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fal fig 9 ua fou 10 waea # fasa sifida smiad (@) fove o wand &2

e
2) o
3)° R
1S

Options :

92090641001. 1
92090641002. 2
92090641003. 3
92090641004. 4

Question Number : 52 Question Id : 92090610383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The equation of the focal chord through the point ( at?, 2at ) of parabola y2 =4ax

is
1. 2ty=(t2-1)(x-a)
2. (2A-1y=t(x-a)
3. (tP-1)=2t(x-a)
4. (t2-Ny=2tx+a)
Options :

92090641005. 1
92090641006. 2
92090641007. 3
92090641008. 4

Question Number : 52 Question Id : 92090610383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WA y? = 4ax ¥ 680 g (at?, 2at ) & St g wiorw oftar o1 Gl a1 Erm?
1. 2ty =(t2-1)(x-a)
2. (2t-1)y=t%(x-a)
3. (t2-1)=2t(x-a)
4.  (t? 1)y =2t(x +a)

Options :

92090641005. 1
92090641006. 2
92090641007. 3
92090641008. 4

Question Number : 53 Question Id : 92090610384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distance between the foci of a hyperbola is 16 and its eccentricity is «E . The
equation for the hyperbola is?

1. x2-y?=32
. xz—ygzﬂ
3. x?-y?=16

4 x*-y’=64

Options :

92090641009. 1
92090641010. 2
92090641011. 3
92090641012. 4

Question Number : 53 Question Id : 92090610384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud SARATI & &l BIdd & did DI gl 16 § SR IUB| Iab-adl 2. q T8 JfquRaed &
feru weieBoT 9T B1v 2

1. x%2-y?2-32
2, xz—y‘?:.ﬂ
3. x2-y?2-16

1. x2-y?-64

Options :

92090641009. 1
92090641010. 2
92090641011. 3
92090641012. 4

Question Number : 54 Question Id : 92090610385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let u={1223,...,20}. Let X, Y, Z be the subsets of U.
Let X be the set of all numbers, which are perfect squares.
Let Y be the set of all numbers, which are multiples of 5.
Let Z be the set of all numbers, which are divisible by 2 and 3.
Consider the following statements and select the true statements :
A. X Y, Z are mutually exclusive
B. X Y, Zare mutually exhaustive
C. The number of elements in the complement setof X U Y is 12
Choose the correct answer from the options given below.

1. AandB only

2.  AandC only

3. BandConly

4. Aonly
Options :

92090641013. 1



92090641014. 2
92090641015. 3
92090641016. 4

Question Number : 54 Question Id : 92090610385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAl u={123,..,20}.3¢ X, Y, 3R Z, US Iuaq=4 ¢
R T
x il quf & Swensi &1 9y ©.

y 3 9l Sarsii &1 Gq=d & Sl 5 & Ul § aul
Z , 2 3R 3 9 HIsg g arelt 9t Saansif ay=y 8
FR T IR fdgR $3d gu i fdu 7 3fed sy g
A XY, 3R 2 TRER 3qacf g
B. X,Y,Z RER A9 g
C. & q=ag AU B ¥ 3fagd 1 d@ar 12 @
e fau U fahedl 7 9 Hel IR P1 9g P :

1) dd A 3R B
2) &ad ASIRC
3) &ad BSIRC
4)  PHAdA
Options :

92090641013. 1
92090641014. 2
92090641015. 3
92090641016. 4

Question Number : 55 Question Id : 92090610386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the gathering of students, 75% knew some probability and 30% knew some
statistics. 20% of students knew some amount of both probability and statistics.
What percentage of students had some knowledge of either probability or
statistics?

1. 15%
2. 30%
3. 75%
4  85%
Options :

92090641017. 1
92090641018. 2
92090641019. 3
92090641020. 4

Question Number : 55 Question Id : 92090610386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faenfddi & e T | 75% fAundf o8 wmiidd I 8 SR 30% $© Fifegd! 9Fd ¢ | 20%
faendf $o A A uiledr SR witegs! SH1 SFd 8] f[ba uidwra faurdf &0 & o0 @
(@S Whdal 91 $& Higgd) & olHd § ?

1. 15%
2. 30%
3 75%
1 85%

Options :

92090641017. 1
92090641018. 2
92090641019. 3
92090641020. 4

Question Number : 56 Question Id : 92090610387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the both regression coefficient b, and b,, are positive, then

1 1 2

1. —+—>—
Dy bxy r

gy g ¥ o2
Dy bxy r

gy Lou E
byx bxy 2

1 1. ¥

4. —t—>=
b},x bxy 2

Options :

92090641021. 1
92090641022. 2
92090641023. 3
92090641024. 4

Question Number : 56 Question Id : 92090610387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe; S WISV U by, IR by, UEE & A

byx .bJQlrr r

1 1 2

2. . g

by by, T

1 ; M

3. P o

byx |!:1‘.,q‘F 2

g gt f

by By "2

Options :

92090641021. 1
92090641022. 2
92090641023. 3
92090641024. 4



Question Number : 57 Question Id : 92090610388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For two variables x and y, the two regression lines are x+2y-5=0;
2x+3y-8=0 and variance (X)=12. Then o, is

¥
1 4
2 5
3 2
4. -4
Options :

92090641025. 1
92090641026. 2
92090641027. 3
92090641028. 4

Question Number : 57 Question Id : 92090610388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg o1 =¥, xﬁ?mﬁiﬁﬁﬁmmmﬁ% x+2y-5=0; 2x+3y-8=0 3R TR
(X)=12. T o, fHuS SRR g2

1. 4
2. 5
3. 2
4, -4

Options :

92090641025. 1
92090641026. 2
92090641027. 3
92090641028. 4

Question Number : 58 Question Id : 92090610389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are two methods for finding mode in discrete series?
1.  Grouping method and ascending method
2.  Grouping method and descending method
3. Table method and midpoint method

4.  Grouping method and inspecting method

Options :

92090641029. 1
92090641030. 2
92090641031. 3
92090641032. 4

Question Number : 58 Question Id : 92090610389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it faftal § 9 o= @ 31 [t O [fdea 9oit § [ @re) FHerer o1 9@ &2

1) Fged Al ok smeiel fafy
2) e fafer 3R eravigl fafy
3) ARvf fafe ofik meafag fafd
4) 9y fafY iR Fdteror fafe

Options :

92090641029. 1
92090641030. 2
92090641031. 3
92090641032. 4

Question Number : 59 Question Id : 92090610390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is NOT true?

1.  The measure of skewness is dependent upon the amount of
dispersion

2. In a symmetric distribution, the values of mean, median and mode
are the same

3. In a positively skewed distribution : mean > median > mode
4. In a negatively skewed distribution : mode > mean > median

Options :

92090641033. 1
92090641034. 2
92090641035. 3
92090641036. 4

Question Number : 59 Question Id : 92090610390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofEa i 9 SH A Sy Td Tl & ?

1) 39 &1 A9, URAT B AR R R A g |

2) Ueb WA faawur & Aren, Wiferest iR faen &1 AF S S g |
3) U AT fauH faavor # Areg > AnfeenT> faen

4) U HBUTES [q9H faaror 7 faur- wre> wifegre

Options :

92090641033. 1
92090641034. 2
92090641035. 3
92090641036. 4

Question Number : 60 Question Id : 92090610391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : To determine average rate of charge of concentration of CO,

in the atmosphere for the entire period, when the rates of
charge of concentration in different periods is given,
geometric mean can be used.

Reason(R) : The geometric mean is one of the measures of central
tendency and is defined as the nth root of the product of given
n positive observations.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090641037. 1
92090641038. 2
92090641039. 3
92090641040. 4

Question Number : 60 Question Id : 92090610391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3 FUA AU T §: TP IHUFYA (Assertion A) F U H ff€d § @ TR IS BRI
(Reason H]Q'TF':[ ﬁ;
INPYTA : AGHSA H CO, P! 3Yd Figdl HI UREd R &1 gl 3@l & e 7oA &

fo, Srafes faftqa sraftrt &t Figar uRada &3 & 715 81, 99 SIiHdig A1e &1
UON &R 9Fhd o

HRUIR : ey A S=ig uafwl 7Y # 4 U § 3R g8 3T 71U n 91T Beml &
TUFHA & nth J0 9 9RYITET ©

IR &Y & 3Teiie #, 1 fu 70 fawedi § 9 Ia8 Iugdd IR &1 98- Difore

(1) ASRRIHITE E 3R R, A DI IS AR 8

(2) ASRRIHAITEIE APR A DI el RSN Te &
3) AWEE AFTRUE AR

@) ATITIE ABTRILT

Options :

92090641037. 1
92090641038. 2
92090641039. 3
92090641040. 4

Question Number : 61 Question Id : 92090610392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correlation coefficient is independent of
1.  change of origin only
2. change of scale only
3.  both change of scale and origin

4. neither change of scale nor change of origin

Options :

92090641041. 1
92090641042. 2
92090641043. 3
92090641044. 4

Question Number : 61 Question Id : 92090610392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e Hdy e frd W 1R 78 dan 2

(1) &ad fdg & TRacd W

(2)  ad HIGH (@) S uRadd R

(3) Hd fdg R A (@ a) S & afad W
@) A 9d fdg SR 7 | (&) & aiadd )

Options :

92090641041. 1
92090641042. 2
92090641043. 3
92090641044. 4

Question Number : 62 Question Id : 92090610393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The variance of the first n natural numbers is

n<+1
1.
12
2
o) n< -1
12
3 n(n+1)(2n +1)
‘ 6
4 n(n-1)(2n-1)
B
Options :

92090641045. 1
92090641046. 2
92090641047. 3
92090641048. 4

Question Number : 62 Question Id : 92090610393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ugel n Wihd S@ATT PT YHRYI g sR1aR gidl @

2

1 n+1
12
" n? -1
‘ 12
3 n(n+1)(2n +1)
N 6
1 n(n-1)(2n-1)
i 6
Options :

92090641045. 1
92090641046. 2
92090641047 3
92090641048. 4

Question Number : 63 Question Id : 92090610394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : According to one investigator's model, the data are like 50
draws made at random from large box. The null hypothesis
says that average of the box is equal to 100. The alternative
says that average of box is more than 100. The average of the
draw is 107.3 and the SD is 22.1. The SE for sample average

is 3.1. Now z:(@] ~2.35 and P=1%.

Statement-Il : If the null hypothesis is right, these is only a 1% chance of
getting a Z value bigger than 2.35.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|| are true
Both Statement-| and Statement-I| are false

Statement-| is true but Statement-Il is false

oW N

Statement-| is false but Statement-Il is true

Options :



92090641049. 1
92090641050. 2
92090641051. 3
92090641052. 4

Question Number : 63 Question Id : 92090610394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
419§ pyA RRU MU &:

YA | Ud 349U (SfiE) ATSd & YR, TS g8 g4 H 50 gfwsd Y (3))
fAwTe i €1 el ufteeg $edl @ fd a1y &1 ofid 100 &
IR ¢ | dbfcdsd UReed-1 $edl ¢ fd ared &1 3fed 100 F 3ffts
21 B (3N FT ST 107.3 R AFS fagad 22.1 € | ufded & siwa

#1 SE (Standard Error) 3.1 € @ z=[@]=2.35 3R
P =1%.
FYA I gfe FRISIVIY Uieeaqr Ifad § o Z AF &1 2.35. 89 &1 AHEAT
Fad 1% gl
IR HUA F 3fdid |, A fau 17U fabeul 7 4 Y48 3ugdd IR $1 99 Difelu

1. S| SRNTHIEE &

() HYI SR IESHITEd

(3) DY G §, Al HYF 1 TTad §

@) HYF| T €, AP BYT I Fel g

Options :

92090641049. 1
92090641050. 2
92090641051. 3
92090641052. 4

Question Number : 64 Question Id : 92090610395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I with List=Il :

List—I List-lI

(A) Chisquare test (I) Testing the significance of
differences of the mean values
among more than two sample group

(B) ANOVA test () Testing the goodness of fit of a
distribution
(C) z-test (lI1) Testing the significance of difference

of mean value between two small
size sample when population
standard deviation is not available

(D) t-test (IV) Testing the significance of difference
of mean value between two large
sized samples.

Choose the correct answer from the options given below :

1. (A=) (B)(II): (C)=(I); (D}(IV)

2. (AW(I); (B)(1); (C-(IV); (D)1lN)
3. (A(I): (B)=(II); (CI-(IV); (D))
4. (A1) B)=(1); (C)=(I1); (D}~(IV)
Options :

92090641053. 1
92090641054. 2
92090641055. 3
92090641056. 4

Question Number : 64 Question Id : 92090610395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Gy gt 11 &1 fie Sifore

TAl-| gt -l

A) =18 o - udtem (1) <9 3iftes ufaes Tgl & At 7El F SR
&1 Trdddr 1 udleu

(B) AT - Uiequr () TP §e & TS BIc HI U0l

(C) z-Tdiam (1) <Y PR & Ufde & A1 A & iR
@1 Arfddl &1 gHe S e AHS ey
Jude T8l 6.

(D) ¢ Tdteqm (IV) TIFS AHR & Ul & A1 AHT & 3’
&1 il &1 uhem

e feu e fasedi # | ¥l IR &1 994 Sifre:

(1) A-l, B-ll, C-lll, D-IV
(2) A-ll, B-1, C-IVv, D-1lI
(3) A-|, B-lll, C-IV, D-II
(4) A-ll, B-1, C-lll, D-1V

Options :

92090641053. 1
92090641054. 2
92090641055. 3
92090641056. 4

Question Number : 65 Question Id : 92090610396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in the process of hypothesis testing in proper
sequence :

Select the level of significance

Setup null and alternative hypothesis

Performance computations

A

B

C. Establish the decision rule
D

E. Select test statistics

F

Draw conclusion
Choose the correct answer from the options given below.
1. AB.C.D.EF
2: ABEDCFEF
3. BACDEF

4 BAECGCDF

Options :

92090641057. 1
92090641058. 2
92090641059. 3
92090641060. 4

Question Number : 65 Question Id : 92090610396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= f2u U ue) 1, ulteeu udiam &t ufshar & Ifad A I saafiyd Sifse

A 1l &1 R 1
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1. ABCDEF
2. ABEDCF
3. BACDEF
4 BAECDF

Options :

92090641057. 1
92090641058. 2
92090641059. 3
92090641060. 4

Question Number : 66 Question Id : 92090610397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a data type in Structured Query Language (SQL)?

1. Float

2.  Double

3. Decimal

4. Date
Options :

92090641061. 1
92090641062. 2
92090641063. 3
92090641064. 4



Question Number : 66 Question Id : 92090610397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufafaa & 9, o1 g1 deo® U (S Q L) | sfids & TSR (SeT 15Y) &I el auidl ?

(1)  TdIC (FLOAT) (2) Edd (DOUBLE)
(3) SfHHd (DECIMAL (4) ¢ (DATE)
Options :

92090641061. 1
92090641062. 2
92090641063. 3
92090641064. 4

Question Number : 67 Question Id : 92090610398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement-l : In computer networking, bandwidth is often used as a
synonym for data transfer rate.

Statement-Il : Wider the bandwidth of a communication system, greater is
the amount of data that can be transferred over a fixed period
of time.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-I| are true
2. Both Statement=| and Statement-I| are false
3. Statement-l is true but Statement-ll is false

4. Statement-l| is false but Statement-Il is true

Options :

92090641065. 1
92090641066. 2
92090641067. 3
92090641068. 4

Question Number : 67 Question Id : 92090610398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :
92090641065. 1
92090641066. 2

92090641067. 3
92090641068. 4

Question Number : 68 Question Id : 92090610399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements about type of network and the respective network
range.

A. LAN has network range up to a few kilometers

B. WAN has suitability over large geographical areas, often a country or
continent

C. MAN has network range between 5 to 100 km
D. PAN has network range of less than 10 m
Choose the correct answer from the options given below.
1.  A,Band C only
2. A, CandD only
3. B, CandDonly
4. A,B,CandDonly



Options :

92090641069. 1
92090641070. 2
92090641071. 3
92090641072. 4

Question Number : 68 Question Id : 92090610399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIddd & UBR 3R 391 394 el Sredd 1R & fou 3fad sy gt

LAN 1 Siddd R $& fdarie a® gidl &
WAN 1 3Ugddal 98 Hififerd & Jifibar Ue 321 a1 HeTsid b aidl &
MAN 1 STTelca URER 5 8 100 1L 96 Sl g
PAN & SiTclcd URER 10 HieX 9 o1 8l &
12 fau U fasedl & 9 Tet IR &1 994 Hifow:

1. A BS3IRC,
A, C3RD
B,C, 3RD
A B, C3RD
Options :
92090641069. 1
92090641070. 2

92090641071. 3
92090641072. 4
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Question Number : 69 Question Id : 92090610400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are NOT used in relational algebra?
A. Projection

B. Product

C. Union

D. Cartesian multiplication

Choose the correct answer from the options given below.

1. B,Conly

2. A, Donly

3. A Conly

4. B, Donly
Options :

92090641073. 1
92090641074. 2
92090641075. 3
92090641076. 4

Question Number : 69 Question Id : 92090610400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafefad A 9 17 ddumwe fsmiod & o wai =78 g 2

A. &Y

B. TUF%d
C. gfiraA

D. @Teierdd o
Ard fdu U faw el # 9 9el IR &1 994 B

1. $ad B3R C
2. PAAARD
3. PAAAMRC
4. PAABIRD

Options :
92090641073. 1



92090641074. 2
92090641075. 3
92090641076. 4

Question Number : 70 Question Id : 92090610401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements regarding advantages of Database approach.
Statement-| : It maintains data integrity and quality.
Statement-Il : It maximizes data inconsistencies.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|l are true
2.  Both Statement-| and Statement-l| are false
3. Statement-l is true but Statement-l| is false
4.  Statement-l is false but Statement-Il is true

Options :

92090641077. 1
92090641078. 2
92090641079. 3
92090641080. 4

Question Number : 70 Question Id : 92090610401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090641077. 1
92090641078 2
92090641079. 3
92090641080. 4

Question Number : 71 Question Id : 92090610402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a basic data type?

1. char

2. float

3. long

4. double
Options :

92090641081. 1
92090641082. 2
92090641083. 3
92090641084. 4

Question Number : 71 Question Id : 92090610402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafeafad & 9 &9 gayd STl USR gl 87

(1) dR (CHAR)
(2) Udle (FLOAT)
(3) d©M (long)
4) S49¢ ( Double)

Options :

92090641081. 1
92090641082. 2
92090641083. 3
92090641084. 4

Question Number : 72 Question Id : 92090610403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which CPU scheduling technique, the CPU time requirement of each process
must be known in advance?

1.  Round robin

2. First come, first serve

3. Shortest job first

4. All of the above
Options :

92090641085. 1
92090641086. 2
92090641087. 3
92090641088. 4

Question Number : 72 Question Id : 92090610403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090641085. 1
92090641086. 2
92090641087. 3
92090641088. 4

Question Number : 73 Question Id : 92090610404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The person responsible for authorizing access to the database is known as
1. database designer
2. database administrator
3. parametric end user

4.  application programmer

Options :

92090641089. 1
92090641090. 2
92090641091. 3
92090641092. 4

Question Number : 73 Question Id : 92090610404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 fad ol STeTad & ST (Ift) &1 Wiftigd @ & fore Iverd €, 98 o1 Heamdl 82

(1) SeEY 3ffHdcas
(2) STeEd UHE
(3) Urdfeids 3ifdH IuHie

(4) SR YRR

Options :

92090641089. 1
92090641090. 2
92090641091. 3
92090641092. 4

Question Number : 74 Question Id : 92090610405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List—I with List—I :

List—I List—II
(Generation of computers) (Major technology used)
(A) First generation computers (I) Microprocessors

(B) Second generation computers (ll) Vaccum tubes
(C) Third generation computers () Integrated circuits

(D) Fourth generation computers  (IV) Transistors

Choose the correct answer from the options given below :

1. (A1) (BII): (C)=(I; (D)IV)

2. (A(); (B)HIV): (C)-(1); (D)=(ll)
3. (AN(II); (B)1); (C)(It); (D)~(IV)
4. (A(I); (BY-(IV); (C)-(1Il); (D))
Options :

92090641093. 1
92090641094. 2
92090641095. 3
92090641096. 4

Question Number : 74 Question Id : 92090610405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A | & A g 11 B e Sifore

Tal-1 e 31 dig Tt 1 T B TS
UT deb-id!
) uyH did Fge () FIFHIURER
B fedidl v ay fAaia edt
(C) qdig i duge (1) FHIHTed URuY
(D) =gy didl R (v) cifereRy

4 feu e fasedi # 9 Ul IR &1 994 DIl

(1) A-l, B-1l, C-lil, D-1V
(2) A-l, B-1V, C-II, D-1lI
(3) A- I, B-1, C-lI, D-IV
(4) A-ll, B- IV, C-1ll, D-I

Options :

92090641093. 1
92090641094. 2
92090641095. 3
92090641096. 4

Question Number : 75 Question Id : 92090610406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The component which is built into the computer and is the first code run by the
computer when it is switched on is called

1. linker

2. loader

3. BIOS

4.  disk space analysers

Options :

92090641097. 1
92090641098. 2
92090641099. 3
92090641100. 4



Question Number : 75 Question Id : 92090610406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 UeF W $YeR & iaR g & IR 99 R &1 g Wiad § O 98 $eR SR 9
Ugdl H1S gIdl © d8 T Pgaldl ¢ ?

1. & (linker)
9. WIeY (loader)
3. BIOS

4. T35 WY TATENSOR (disk space analysers)

Options :

92090641097. 1
92090641098. 2
92090641099. 3
92090641100. 4

Question Number : 76 Question Id : 92090610407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT correct?

A. Temperature increases with depth in lithosphere.
B. Lithosphere is the rigid and brittle outer shell of earth.

C. Lithosphere is thicker beneath the continents and thinner beneath the
oceans.

D. Heat transfer in lithosphere occurs by convection.
Choose the correct answer from the options given below.

1. AandD only

2. BandConly

3. CandDonly

4. Donly
Options :

92090641101. 1
92090641102. 2
92090641103. 3



92090641104. 4

Question Number : 76 Question Id : 92090610407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FuffEd g s T HYT TI 81 § |
A RAHSH H TERTS dg | dUHH dedl & |
B. RTHSA, Jedl T TET 3R HR ed SR g
c. RAHSE HETHY & 11 Hiel 3R 94g & - gdel gidl 8
D. W HEd & &I B WA Ydad gRI &idl g
412 fu 1 fadpedi # 9§ Wl IR &1 994 Sifde:

1. HAAASRD

2. &qd B, 3R C,

. &ddac 3RD

4. HdAD
Options :

92090641101. 1
92090641102. 2
92090641103. 3
92090641104. 4

Question Number : 77 Question Id : 92090610408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Moho discontinuity in the earth separates

—

the upper crust from the lower crust

2.  the crust from the mantle

3. the upper mantle from the lower mantle
4

the mantle from the core

Options :

92090641105. 1
92090641106. 2
92090641107. 3
92090641108. 4



Question Number : 77 Question Id : 92090610408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt § Higl sRiquddl fSaa! Judd Hdl o7
(1) S yudd & H=d yuea §

@) Yudct &l UEaR (Hea) 9

(3) U Hed & FAgd Hea ¥

4 HeadIHSI

Options :

92090641105. 1
92090641106. 2
92090641107. 3
92090641108. 4

Question Number : 78 Question Id : 92090610409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the fastest type of mass movement during mass
wasting processes?

1. Creep

2.  Debris avalanche
3. Mudflow

4. Earthflow

Options :

92090641109. 1
92090641110. 2
92090641111. 3
92090641112. 4

Question Number : 78 Question Id : 92090610409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g forfaa o 9 St eaue Ay ufear & R U 94 $f didad USR8

(1) YT (Creep)
(2) HAEIfgHERE (Debris Avalanche)
(3)  Hal Udle (Mudflow)

(4) HUdIg (Earthflow)

Options :

92090641109. 1
92090641110. 2
92090641111. 3
92090641112. 4

Question Number : 79 Question Id : 92090610410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Location where the seismic waves are not recorded is called

1. hypocentre

2. shadow zone

3. focus

4.  epicentre
Options :

92090641113. 1
92090641114. 2
92090641115.3
92090641116. 4

Question Number : 79 Question Id : 92090610410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 R oIgl YUl adll RIS (Gol) 181 B o Habcll, 1 Heald a7

(1) 3EF=
() BE&
(3) WiHd
4 TR

Options :



92090641113. 1
92090641114. 2
92090641115. 3
92090641116. 4

Question Number : 80 Question Id : 92090610411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In subduction zone, which type of following rock is expected?

1.  High temperature—low pressure
2. Low temperature—low pressure
3. Low temperature—high pressure

4. High temperature—high pressure

Options :

92090641117. 1
92090641118. 2
92090641119. 3
92090641120. 4

Question Number : 80 Question Id : 92090610411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S YA (W@giad ) & H T A UHR &1 98 al- & SrHE1 8ldl & ?

(1) IHdIIHH- Y 3"
@ gamaE -y eE
3) Faauwe-S=EdE
4) IAdM-IAIE

Options :

92090641117. 1
92090641118. 2
92090641119. 3
92090641120. 4

Question Number : 81 Question Id : 92090610412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of the following structure, the beds are dipping away from each other?

1. Basin

2. Synform

3. Syncline

4. Dome
Options :

92090641121. 1
92090641122. 2
92090641123. 3
92090641124. 4

Question Number : 81 Question Id : 92090610412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rrffed o & & 9 W1 3, 9a U g8 @ 2o 2|

(1) dfF

2 e

@) R T

4 SH
Options :

92090641121. 1
92090641122. 2
92090641123. 3
92090641124. 4

Question Number : 82 Question Id : 92090610413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the concentration of nitrogen in ppm unit in ambient atmosphere?

1. ~78.08

2. ~7808

3. ~78080

4. ~780800
Options :

92090641125. 1
92090641126. 2
92090641127. 3
92090641128. 4

Question Number : 82 Question Id : 92090610413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qia<it argrHed o Arseled & PPM e B Higdl fhad sv1e gl 87

(1) ~ 78.08

(2) ~ 7808

(3) ~ 78080

(4) ~ 780800
Options :

92090641125. 1
92090641126. 2
92090641127. 3
92090641128. 4

Question Number : 83 Question Id : 92090610414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a feature of spleotheme rising upwards from the
floor of the caves?

1. Stalactites
Stalagmites

Dolines

o

Uvalas



Options :

92090641129. 1
92090641130. 2
92090641131. 3
92090641132. 4

Question Number : 83 Question Id : 92090610414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafad ¥ § SH Teei & B @) Y SR 3 fexn § Aead gu Rumym &1 e g |

(1) TWoPpeRe

2 WdTHES

@) SR

@) FHada™
Options :

92090641129. 1
92090641130. 2
92090641131. 3
92090641132. 4

Question Number : 84 Question Id : 92090610415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the correct order of the Earth's layers with decreasing density?
A. Outer core

B. Oceanic crust

C. Continental crust

D. Mantle

Choose the correct answer from the options given below.

1. B,D,A,C
2. A/DB,C
3. ADCB
4 D,AB,C

Options :



92090641133. 1
92090641134. 2
92090641135. 3
92090641136. 4

Question Number : 84 Question Id : 92090610415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl B Wl Bl Ued 99d & HEY el HH T Tafeyd H3

A SEdwIE
B. T4 YUud
c. HETElod yaud
D. UAR
i fau e fadedi O 9 9El 3R &1 9 i
1. B D.AC
2. A,DB.C
¥ ADCH
4. D,ABC
Options :

92090641133. 1
92090641134. 2
92090641135. 3
92090641136. 4

Question Number : 85 Question Id : 92090610416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following elements in descending order of their relative abundance
in the whole earth:

A. Silicon
B. lIron
C. Magnesium
D. Oxygen
E. Nickel
Choose the correct answer from the options given below.

1: D.BAGCE

2 B,DACE

3. B EADC

4. DABCE

Options :

92090641137. 1
92090641138. 2
92090641139. 3
92090641140. 4

Question Number : 85 Question Id : 92090610416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad dal &1 3@ Ol gt A Ul & SR Ued §U hH H Saafeyd &1 |

A Tufee
B. SMURA

C. AfufRmH
D. 3fleieH
I ECa

12 fau e fasedl 7 ¥ gl 3wk &1 994 Sife:
. D.BACE
2 B D,ACE
3. B EADC
. D,ABCE

Options :

92090641137. 1
92090641138. 2
92090641139. 3
92090641140. 4

Question Number : 86 Question Id : 92090610417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following structure develope in a divergent tectonic setting?

1. Island arc
2. Trench
3.  Orogenic belt

4.  Mid-oceanic ridge

Options :

92090641141. 1
92090641142. 2
92090641143. 3
92090641144. 4

Question Number : 86 Question Id : 92090610417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fPofafaa § @ @19 9 T smur faadie srawn § faefia gt &2

1. gluam
2. o9
3. Udd-gdfd AEd

4, HY TR

Options :

92090641141. 1
92090641142. 2
92090641143. 3
92090641144. 4

Question Number : 87 Question Id : 92090610418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Tropical rain forest of the earth occurs in intertropical
convergence zone of high temperature and heavy rainfall.

Reason (R) : The lower atmosphere from 10 °N to 10 °S of the equator is
heated, expands and becomes less dense. Rising hot air
cools because it expands as it rises, resulting in heavy
average precipitation.

In the light of the above statements, choose the correct answer from the options
given below.

—_

Both (A) and (R) are true and (R) is the correct explanation of (A)

2.  Both (A)and (R) are true but (R) is not the correct explanation of (A)
3. (A)istrue but (R) is false

4. (A)is false but (R) is true

Options :
92090641145. 1
92090641146. 2



92090641147. 3
92090641148. 4

Question Number : 87 Question Id : 92090610418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hia 3 $yF QU U § TP SUBYA (Assertion A) & FU  H IEd & O g¥RT ITH BRI
(Reason ) FFY T

iFHYT A ; gl & Iufeatiy aufad, I= auHHE R YRl a9 & ofd: Iwdiedy
RO &5 § YU W @

HRUIR : YL 3@l B 10 °N to 10 °S &I Haa agdsd T iR ha ordl g SR
IgHT U HH Bl olldl 81 SR Sl §s TH gal Sl gl Sl & i o g
g SR WA ¢ B St & SR IueT uRkumt HR S af gar @

I HY- & 3faid H, A 30 710 [doedi § | HEi3a &1 994 Sifelw

(1) A 3RRGH TS € 3R, A B! &l RS &
2) ASRRIFITE € APAR, A DI USl OB T8l &
3) AT AFIRIG TR
(4) AUEAEIE AlBIRUS B
Options :
92090641145, 1
92090641146, 2

92090641147. 3
92090641148. 4

Question Number : 88 Question Id : 92090610419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a warm current?

1. East Australian Current

2. West Australian Current

3.  North Atlantic Current

4.  California Current
Options :

92090641149. 1



92090641150. 2
92090641151. 3
92090641152. 4

Question Number : 88 Question Id : 92090610419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefad # 9 &1 9 7 yrT =8 82

(1) ydf SRS e
@) U sl U
(3) IRl sfedifcdd YRl
(4)  BicTwIFaT YR

Options :

92090641149. 1
92090641150. 2
92090641151. 3
92090641152. 4

Question Number : 89 Question Id : 92090610420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : In a tropical cyclone, minimum atmospheric pressure is
observed at the center of the cyclone.

Statement-Il : Surface winds move in clockwise direction in tropical cyclone
in northern hemisphere.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct

2. Both Statement-I| and Statement-Il are incorrect

3. Statement-l| is correct but Statement-Il is incorrect

4. Statement-| is incorrect but Statement-ll is correct
Options :

92090641153. 1
92090641154. 2



92090641155. 3
92090641156. 4

Question Number : 89 Question Id : 92090610420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CiERA 2 CA TR

FY | : UH W] Bicdl Ihdld H, Iehdld & b5 U IAdH digHSed ard gidl o
HY || ; U HW] Hiesiig Tehard H, Iodl seiiany 1 Tae! gard féomad e ¥ =gedt 8
1. Y SIR T e §
() &Y SR 1 EE e 8
() YISl g, Al HYA 11 7T §
@)  ®YF A 8, dfded YA 1 I8 8§
Options :
92090641153 1
92090641154, 2

92090641155. 3
92090641156. 4

Question Number : 90 Question Id : 92090610421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-lI :

List-I ListII
(A) ElNino (1) Seasonal reversal of surface winds
(B) LaNina () Colder than normal sea surface

temperature in eastern Pacific Ocean

(C) Southern oscillations  (lll) Warmer than normal sea surface
temperature in eastern Pacific Ocean

(D) Monsoon (IV) Reversing surface air pressure
between east and west Pacific Ocean

Choose the correct answer from the options given below :

1. (A(I); (B)=(IV); (C)-(ll); (D)~(1)

(
2. (A(Il); (B)=(I1); (C)~(1); (D)~(1V)
3. (A)(I); B)=(lIt); (CHIV); (D))
4. (A)(I); (B (CH(IV); (D)1
Options :

92090641157. 1
92090641158. 2
92090641159. 3
92090641160. 4

Question Number : 90 Question Id : 92090610421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 | & a1y gt | @1 e Fifon

- gt -

(A) 3@ () YiE uad 1 HEH S

B8) @ () gdl W= HgTR H W
IR 9P d9 9 3Hfed d81

(©) ofémh graA () gdf U= HeR T
HH AR ¥ a9 9§ T

(D) HHEYA (v) gaf SR ufiElt  umm
HEMPR & dl9 gp U+ g
&1 IahHUl

e fau U fadedi # | ¥l IR B 99 DI

(1) A-lll, B-1V, C-lI, D-1
(2) A-1l, B-Il, C-, D-IV
(3) A- 1I, B-lll, C-1V, D-
(4) A-lll, B- 1I, C-IV, D-I

Options :

92090641157. 1
92090641158. 2
92090641159. 3
92090641160. 4

Question Number : 91 Question Id : 92090610422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List— List-lI
(A) Egypt () Tundra climate
(B) Brazil (Il) Mediterranean climate
(C) Italy (1) Wet and dry tropical climate
(D) Greenland (IV) Dry climate

Choose the correct answer from the options given below :
(A=(IV): (B)=(T); (CH(1); (DI

2. (Ay=(I); (B (CH1): (D)-(1V)
3. (A)(I); (B)=(IVY); (C)=(I); (D))
4. (A(I): (By-(IV): (C)=(1); (D))

—

Options :

92090641161. 1
92090641162. 2
92090641163. 3
92090641164. 4

Question Number : 91 Question Id : 92090610422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 1 & Ay g 1 &1 e sifoe

gal-1 & El -1l Sy
) () <TIISday
(B) SIid () YA Sy
€ 3ot iy  3M1E 3R TP IudTe defig Searyg
(D) Uels (v) U Sy

i< fau v fawedi § § Ugl IO &1 9094 Dol

(1M A- IV, B- 1Il, C-1l, D-I
(2) A-11, B-1ll, C-I, D-IV
(3) A-1Il, B-1V, C-1I, D-|
(4) A-l1, B- IV, C-1, D-llI

Options :

92090641161. 1

92090641162. 2

92090641163. 3
92090641164. 4

Question Number : 92 Question Id : 92090610423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : A characteristic feature of troposphere is regular decrease in
air temperature with increasing altitude.

Reason (R) : Air in troposphere is heated by absorption of incoming
shortwave solar radiation.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false
4

(A) is false but (R) is true



Options :

92090641165. 1
92090641166. 2
92090641167. 3
92090641168. 4

Question Number : 92 Question Id : 92090610423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 & YA QU M § 0P SHUBHYT (Assertion A) B U T fifEd g @ EU IUS BRI
(Reason R) & &Y ¥;
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Options :

92090641165. 1
92090641166. 2
92090641167. 3
92090641168. 4

Question Number : 93 Question Id : 92090610424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following deserts are NOT affected by the trade winds?
1. Sahara Desert
2. Thar Desert
3. Gobi Desert
4.  Kalahari Desert

Options :
92090641169. 1



92090641170. 2
92090641171. 3
92090641172. 4

Question Number : 93 Question Id : 92090610424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafafEd 7 8 $11 § I-Rd AMUR YaHi (28 [dg9) 3 uifad 98l ga 2

(1) HeRI &R
(2) YR TER
(3)  TE AR
4) HAER AT
Options :
92090641169. 1
92090641170. 2

92090641171. 3
92090641172. 4

Question Number : 94 Question Id : 92090610425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement-l : Dry climates are characterized by more evaporation and less
precipitation that is not adequate for the growth of plants.

Statement-Il : Steppe is a type of dry climate.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true
2. Both Statement—| and Statement-Il are false
3. Statement-| is true but Statement-ll is false

4. Statement-| is false but Statement-Il is true

Options :

92090641173. 1
92090641174. 2
92090641175. 3



92090641176. 4

Question Number : 94 Question Id : 92090610425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEE QI ATl

DY | - YD Saaryg &1 fA9war 8, it arfiaur 8k $H sfaamu, s et & g & fou
g i 21

HY || : Ul U UHR &1 L Sadyg g

IR HYF & 3Tl |, 19 U T fadedl § 9 el IR &1 9949 Sifolg

1. @Y RIS EE
() HYFI RIS TTAd 8§
3) HYIHE €, Al HYF |1 7T §
(4) YT 17T g, b $UF 1| T8l

Options :

92090641173. 1
92090641174.2
92090641175. 3
92090641176. 4

Question Number : 95 Question Id : 92090610426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a stream has width of 100 m, depth of 15 m, and flowing at 3 m/s. What is the
discharge of that stream?

1. 300m°/s
3
2. 1500 m3/s
3
3. 500 m“/s
4. 4500 m°/s
Options :

92090641177. 1
92090641178. 2
92090641179. 3



92090641180. 4

Question Number : 95 Question Id : 92090610426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe & 3mar (ware) & 9rels 100 Hiex, el 15 Hi. 8 3R @8 3 Hiey/Adh=s & 91a 9
yaied g1 Y8l § dl Warg () &1 Aol o gnfle

1. 300 ms
2. 1500 m%/s
3. 500 m/s
4. 4500 m/s

Options :

92090641177. 1
92090641178. 2
92090641179. 3
92090641180. 4

Question Number : 96 Question Id : 92090610427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Ozone hole is more prominent over Antarctica (South Pole)
between altitude of 15 km and 20 km during September/
October months.

Reason (R) : Special vortex weather conditions in the lower stratosphere
above south pole in winter causes denitrification and lead to

conversion of inactive chlorine into Cl, and HOCI. These two

compounds produce atomic Chlorine when sunlight appears
and destroy ozone.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090641181. 1
92090641182. 2
92090641183. 3
92090641184. 4

Question Number : 96 Question Id : 92090610427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & By AU T § WP HUSUA (Assertion A) F U T GG § Ot T I¥H HRU
(Reason R]%F‘I pa

ftpya A ofeH g sferdbfed @féoft ya) W, Ramry siager #weHl #, 15 3R 20
faniiey @t S8 & d19 Sifid gude grar g |

FRUIR : 4 & gHa" ded #, afél ¢a & IR, ol # 99 Iehara waaryg R,
farged o Iad &l §, 3R 34y $aiRA &1 Cl, IR HOC! § gRafad
R A & | T3 ged gd 3 fHol F oM W o] FalA @ 1 et § o
3G BT ¥ Bl g

JURIad Y P 3fTdle H, A U T fdweat # 9 el IR &1 9g4 Sifoiw
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@) ASRRIATYE AFAR, A D el AR Ll &
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Options :

92090641181. 1
92090641182. 2
92090641183. 3
92090641184. 4

Question Number : 97 Question Id : 92090610428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Year round high temperature and high rainfall leaches basic
cations and also promotes transformation and subsequent
leaching of Si, leaving iron and aluminium oxide minerals into
the soil. Such soils are termed as acidic soils.

Reason (R) : Soluble aluminium and presence of pyrite minerals can
release protons into soilssssss environment and lead to
formations of soil acidic conditions.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A)and (R) are true but (R) is not the correct explanation of (A)
3.  (A)istrue but (R) is false

4. (A)is false but (R) is true
Options :
92090641185. 1
92090641186. 2
92090641187. 3
92090641188. 4

Question Number : 97 Question Id : 92090610428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 $YF U T §: U SMfUBYA (Assertion A) & ¥ # fifad B O g1 ITF SRU
(Reason R]%F‘I ﬁ;
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A 3R R &1 9 §, Wit R, A B Ug! RS 78 &
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Options :

92090641185. 1
92090641186. 2
92090641187. 3
92090641188. 4

Question Number : 98 Question Id : 92090610429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Metro cities in the northern India encounter severe case of air
pollution during winter time due to biomass, crop-residue
burning in the States of Haryana and Punjab and frequent
temperature inversion conditions.

Reason (R) : Photochemical smog is formed by photochemical reactions
among NOx, volatile organic compounds in the presence of
sunlight. This is more frequent when the earth is tilted towards
sun.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090641189. 1
92090641190. 2
92090641191. 3
92090641192. 4

Question Number : 98 Question Id : 92090610429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 $YF U T §: U SMfUBYA (Assertion A) & ¥ # fifad B O g1 ITF SRU
(Reason R]%F‘I ﬁ;
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Options :

92090641189. 1
92090641190. 2
92090641191. 3
92090641192. 4

Question Number : 99 Question Id : 92090610430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements :

High dissolved oxygen in water can cause gas bubble disease
Cadmium poisoning cause itai-itai disease

High nitrate ion concentration in water causes blue baby syndrome

Arsenic contamination and exposure causes Minamata disease

mBo o B @

High soluble carbonates cause acidity in lake water
Choose the correct answer from the options given below.

1. B, CandD only

2. B, CandE only

3. A BandConly

4. A, B,DandE only
Options :

92090641193. 1
92090641194. 2
92090641195. 3
92090641196. 4

Question Number : 99 Question Id : 92090610430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el YT g |
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B. Hofirm faurgdadl, 3eT3- 3218 A Al 6.
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1. B.C3RD
2. B,C3RE
3. A B3RC

4. A, B, D3RE

Options :

92090641193. 1
92090641194. 2
92090641195. 3
92090641196. 4

Question Number : 100 Question Id : 92090610431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following gas are not transparent to outgoing IR radiations?

A By
B. NO,
C. NyO
D. SFg
E.

Choose the correct answer from the options given below.

1. A, C,D, and E only

2. CandDonly

3. BandD only

4. Bonly
Options :

92090641197. 1
92090641198. 2
92090641199. 3
92090641200. 4

Question Number : 100 Question Id : 92090610431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafifad # @ @14 € 7 918 9F ardl IR fafeol & e urexl 481 82
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i fau 7 fasedt # | 9El IR 1 999 DHifog:
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Options :

92090641197. 1
92090641198. 2
92090641199. 3
92090641200. 4



